HIT THE BULL’S EYE
TEST XXIX PREMODEL III
(ECONOMICS, GEOGRAPHY, POLITY, APTITUDE AND MENTAL ABILITY, THIRUKURAL
& GENERAL TAMIL)

1.  Which of the following is/are correctly matched pairs?
i. Primary factors - land and labour
ii. Derived factors - capital and land
iii. Fourth factor of production - Entrepreneurship and organization
a.i, ii b. ii, iii c.i, il
d. all the above e. Answer not known
Lelteu(meuaieuBmien Fflwmsll GUIhHHSHU! EenenisHeT 6leneu?
1. (poeaemD 2 BUSHE STTelldHer - BlevlD LOBBID 2 6mLPLILY
. Quplu’L o BusHHE STrenise - (LPELSHID  LOBEILD [Hl6VLD
iii. ErSIBTEUSH © BLSHS STyeni - Cxmbled (LpenerGeury

a. i, ii b. 1i, ii c. 1, 1ii
d. GuBsamplu Sewardaid e alwl Oapfwalsienso

2. Who introduced the concept “Division of labour” in the economics?

a. Alfred Marshall b. Samuelson ¢. Adamsmith
d. Amartiyasen e. Answer not known
‘GouewerLiGLIL (B’ SIPIPSLILBSHSHWeu wmy?
a. SeoLIJL  TFag6e0 b. gmpGeucoaen C. &L el
d. sioysauimeiest e. alewL Gafueisvemsv

3. Consider the following statements.
I. Proportional Taxation is a method, where the rate of tax is same regardless
the size of the income.
II. Proportional tax leaves the relative financial status of taxed persons

unchanged.
a. I, Il are correct b. I only is correct c. I only is correct
d. I, II are incorrect e. Answer not known

LNeTeU(HLD SnMBBIBen6T DLUIS5.
[. eumporer oenemeult GQUTHLLGSHSTO, @Gy wrdflwns eufl algHlug, eldsraamy

oufl SuGLD.
II. eldarédamy suflufed eumomer alFHHHBCHBL, aufl aldHp TBILIGLD.
a. [, II &f b. I @G & c. T @ &
d. L, II seumi e. alewL GaMuialsvemev
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4. Which of the following is/are direct taxes?

i. Wealth tax  ii. Capital gains tax iii. Corporate tax  iv. Value added tax
a. i, ii, iii b. ii, iii, iv c.i,ii, iv

d. all the above e. Answer not known

Weteu(meueteuBmien GBI(pd eufldeT eTeneu?

1. GFeveu eufl 1ii. cpeugHer Sy TUIES 1il. Hmieuest 6uf] iv. A gl (Beurfl
a. i, ii, iii b. ii, iii, iv c.i,ii, iv

d. Guopsaii. gmasHsid e alol G fwalsanen

5. Which of the following items are exempted from GST?

i. Petroleum products. ii. Alcoholic drinks

iii. Electricity iv. Vegetables and food grains
a. 1, 1i, iii b. i, iii c. 1,11, 1v
d. all the above e. Answer not known

GST -ai1 &b sugTHemeu 6Tem6U?
1 QUL Gymelwl QUTBL &6 ii. HLELHAMBTED

iii. WledramyLb iv. STUISN OBBID 2 6wie] SHTeLIBISE.
a. i, ii, iii b. i, iii c.i, i, iv
d. simersgibd e. alowL Gafuwealsdemnso

6.  Which of the following is/are the primary functions of money?

i. Medium of exchange ii. Measure of value

iii. Store of purchasing power

a. i, ii, 1ii b.1,ii c. ii, iii d. i, iii e. Answer not known
LedTeu(HeUeTeUBMIeT LenTHa e (PSS LiewilH6i 6Temeu?

1. ufloTBBaHSHa ii. AHliler oieneyCsimed

1il. UTRIGLD FoHFH U6t [HeNeVEHeV6sT

a. i, ii, iii b. i, ii c. ii, iii d. i, iii e. alewL Ozflwuaisdensy

7.  Consider the following statements
I. When India achieved independence there were only thirteen Indian
ordinance factories in the country.
II. First Industrial policy announced in 1948.
III. Bombay plan was drafted in 1944 by eight Industrialists.
a. I, IT are correct b. II, III are incorrect c. II, IIT are correct
d. L II, III are correct e. Answer not known
LeiTou(hlD SnBmISemeT SYITUIS.
I @bdwur &s&sbHIn SoLBSOUTEH uHepsim  CurTsemeur.  CHTHBFTE60H6IT
LB BT 196D B(HHSHE.
II. e QFTHeomins Oxmeiens 1944-860 GeueMuiL L L .
III. g6 Gamfevgdlugsentsd 1940-60 LbUTUI UL 6uenye] GOFIWLILLL Gl
a. I, I &M b. II, 11T seumi c. II, IIT &f)
d. I, II, III &) e. alewL GaMueisdemev
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8. BldbemiLeauBmleT HoupTerend GCHhosHbHoHHea| D
. rouaId@ Sl CHmeasenmed GaFmbLed emUBLD.
2. hauamIsb@ Bumamlp BGsmeimlenmey Gamialleveond (WWBF o 6wl MG
3. HaUDMISG BSeyld CHTaImslenmsd DSlWTemDEmUl 2 6L T&EGLD
a.1,3 b.1,2¢c.2,3 d.1,2,3 e. alewL OHfNwaledenew
Choose the incorrect statements
1. Perseverance comes from a adverse fate
2. Idleness from an prosperous fate
3. An adverse fate produces folly
a.1,3 b.1,2 c.2,3 d1,23 e. Answer not known

9.  The conditions for PSU come under Maharatna status is/are?
i. Three years with an average annual net profit of over I 2500 crore.
ii. Average annual Turnover of ¥ 20000 crore for 5 years.
iii. Average Annual Net worth of ¥ 10000 crore for 3 years.

a. i, ii, iii b. 1, ii c.1,1ii d. ii, iii e. Answer not known
LSTISHET CHTHBFTEN60HEHSHBTEN HILIHHEMETH6IT 6Tene?
1. grmgfiwne  emihosE Bageorud I 2500 Gsmy  eten el SLRIBHEHDHE

BmEs Couewt(BLd
ii. gynafl ewih aumaUTUl 5 UMIBBEHHEG I 20000 Gz
iii. gymam oLewiB HBY WA 3 I BHEndEE < 1000 Gsmg

a.i,ii, iii b. 1, ii c. 1, iii d. ii, iii e. alowL Oafuealsdemev

10.  Which of the following is one of the method to monitor purchasing power?
a. Wholesale Price Index b. Producer Price Index
c. Consumer Price Index d. Industrial Production Index
e. Answer not known
LedTeu(hHeuaToUBmIeT 61hd el AUMTHIGD FHHend SHeRISTeRIILSBEHTER (LPeHB?
a. QurssalBumer alemed GBIl B e b. o Busdwreny allenev @Guluf G erew
. BIBICTT alewev @GMBuil B 66w d. GsmPBaremey o BusHdH Gui G erew
e. alewL G flwalsenso

11.  Choose the correct statements about Tiruppur.

i. Tiruppur is formed for clustering of a large number of firms producing
cotton knitwear.

ii. It contributes 70% of the country’s cotton knitwear exports.

iii. It is one of the most dynamic cluster in the Global South.

a.i,ii, iii b.1i,ii c. ii, it d. i, iii e. Answer not known

Sy uppsw gaBmiseled Ffluimerenel eTeneu?

1. FHmliygrerg Lleeeorenl. SWTHa@GD eITemoTet Hinleuambiseaie CHT@LILGEHHE,
4spouBm @)L Lb.

ii. @% BIige uhsH ULaeworoL  gBpogulsd HiLsslit 70% unSmers
OamemIBHeieNgl.

. ® o0& shHwduled CBBEGH MISCHTNSHHD @h FHH amibsh OHTGSLILITS
Bbhs BLID 2 eiTengl.

a. i, ii, iii b. 1, ii c. ii, iii d. i, iii e. alewL Qzflwaisbeney
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12.

13.

14.

15.

Which of the following statements about Globalization is/are correct?

i. Opening exclusive public sector enterprises to private sector.

ii. Integration of the domestic economy with the rest of the world.

iii. Opening the doors to FDI and FPI.

a. i, 1i, iii b. ii, iii c. 1, iii d. i, ii e. Answer not known

LeiTeu(phld SnBmIseNed 2 eusowiongheo UBp Ffluimerenel eTeneu?

1. QUTEHISHHIOB HBICIGTHIBMET SHENWITT HIWBEHE LOTBSIULIENLDSFH60

ii. o eTpr B QUITHENTHTT SHEMHUJLD 6J6mEDTUL 2 6% EUITHETHTY SHEMHUILD
BememTlILgl.

iii. e G Gmyg wxeS®  (FDI)  w@pid sweopt G Gstgiy  (FPI)
(PHBHEHHHTOT HHAHN6NSH HMHH MUl

a. i, ii, iii b. ii, iii c. i, iii d. i, ii e. alenL Gafuwealsvemnsv

According to International Monetary Fund, World Economic outlook, GDP of

India in 2016 at current prices was

a. $ 2521 billion b. $ 2215 billion c. $ 5221 billion

d. $ 2251 billion e. Answer not known

et (B uewr  HHwHHer (IMF) sewiliyliig, 2016-60 SbHwmeler o 6Bl (B

Qwrss o pusduiesr (GDP) sieney i

a. $ 2521 Neveuser b. $ 2215 1feveSwiest c. $ 5221 1NeveSlwiest

d. $ 2251 19606 lutest e. alwL Gafwaledenso

Which of the following organization was setup to negotiate with international
firms and approve FDI in select areas?
a. Competition commission b. FIPB c. Central Board of Direct taxes

d. Ministry of finance e. Answer not known

Weteupeuaieuppled Caiblabdhaiiul L uGHseaied Gnrg OeauelBTl B (PHedG OGguiw
UeTem_ (B HimleuemisEhL el OeualBT (B  (PpHeSlenL oamdbGaldsad gBUBSHILILILL
SlemioliL?

a. Gum’i9sh &P b. FIPB c. wHHw  Guyg  euf
UMl
d. pdssims e. alewL GaMuwealsvemev

Which of the following statements about EXIM policy is/are correct?

i. The Ministry of Commerce and Industry announced New Foreign Trade
Policy on 1st April on 2015

ii. It focuses on increasing in exports scenario boosting production and
supporting the concepts like Make in India and Digital India.

iii. EXIM Policy (2015-2020) is expected to double share of India in world from
present level of 5% by the year 2020.

a.i,ii, iii b.1i,ii c. ii, it d. i, iii e. Answer not known

UaTeumd  gFmBmiseied gBmingd - @Omégwdd ateaiems (EXIM POLICY) um

FflWmeTened 6Temeu?

1. af$HsHd BB OHTLHOHMB DDWFFHD, 2015 b i gryed 1 ety
B&0sTeTenEmW D alHBHHI.

. (paerenwrer CrTHsD gBmIng Gsvsamen GLDLGSHIHM, 2 BuUSHSH DISHSFL
wppd  @hHwraled swriGumd,  aegn  @hHWT L EBISHEHHES
DbBTAGTSSH60.
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iii. sBCUTEH 2 0 afHHHHH0 5% WIe BHHH ObHwrale Ukems 2020-5Eei
gBBILg BBHGWHE CdTeTens (2015-2020) S(HIOLMIG DHBFHGLD.

a. i, ii, iii b. i, ii c. ii, iii d. i, iii e. alowL GaMuwealsdemev
16. 2 aHFHer Buieol eaifler UTTemeIUled @T6nIB eUMBLILILL S Dlena WTenel?

1. QF6veu (pemm 2. @16 (YedB

3. BreauFsFIpems 4. ofle] (e

a.1,2 b.2,3 c.3,4 d. 1,4 e. alew OFflwaledenev

Two different natures in the world, these are

1. wealth 2. Mendicancy

3. The Dread of Mendicancy 4. Knowledge

a.1,2 b.2,3 c.3,4 d.1,4 e. Answer not known

17.  Consider the following statements.

Assertion (A): Thoothukudi is known as “Gateway of Tamilnadu”.
Reason (R): Thoothukudi is the major chemical producer in
Tamilnadu.

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true

Both (A) and (R) are true and (R) is not the correct explanation of (A).

e. Answer not known
LedTeu(mHeueTeuBenm  SLJTUIS.

fnop

aapBol (A): BNHSHIHG19 “SLODBITL g6 BlEDLO6eUTUT60” STeITOg)
SIMPSHLILBHBS).

amyenid (R): sObBTL RS  CaugdllOurBLaeT o Busbd  mLWLTS  HTHHESQ
alleNBIGH I D).

a. (A) opmgib (R) Syewio 4, Goaid (R) eeug (A) alBg gflwmer elendsid.

b. (A) #f, eyemed (R) sHeums

c. (A sauml, semed (R) &

d. (A) wipp (R) Srewd &f, Goaib (R) eaug (A) alBeg gflwrer elendsid

S|6060
e. alemL Gz flwalsvenev

18.  Which of the following statements is/are correct?
i. Ragnar Frisch, a Norwegian economist coined the words ‘micro” meaning
small and ‘Macro’ meaning large in the year 1933.
ii. Macroeconomics in its modern form, began with John Maynard Keynes and
his book “The General Theory of Employment, Interest and Money”,

published in 1936.
iii. Keynes is regarded as the ‘Father of Economics’.
a. i, ii, iii b. 1, ii c. ii, iii d. i, iii e. Answer not known

etteu(phld FnBmIsbeled eTemeu  gifluwimeneneu?

1. priGaemws Gxjbhgd OuTmeiwed euevelBT Grdery . .LNJer0F eteleuf Fplwl o6
QummeT GaTewiLewdhErm mmId Guflu ey GuTmeT OFHmewi  GéhGJT  sTanild
USEIBemeT 1933-60 o (HeuTs 6.
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19.

20.

21.

22.

ii. Guflwed GuUTmeMTHTTHSH T Haier eugauoTaIg T GeIml. &alerd - 1936 &b
ey Oeuefuiil L “Geuemeveumuiiiy, eullp OBEID UewId UBMPIWL  CUTHIS
Camiur®” mTeded(mba Cahmeamsiuig.

iii. &e&lerd QUTHEMTHTIHH T HHeNSH 6160 DIEWLPSHBLILIHB GBIB6UT].

a. i, ii, ii b.1i, ii c. ii, iii d. i, iii e. alewL Oflwuaisenen

Consider the following statements.

I. In a mixed economy, the fear of nationalization discourages the private
entrepreneurs in their business operation and innovative initiatives.

II. The inequality of capitalism and inefficiency of socialism are found in mixed

economies.
a. I, IT are correct b. I is correct c. Il is correct
d. I, IT are incorrect e. Answer not known

LNeTeU(HLD SnBmISHemeT QUITUIS.

[. seoty Gumrmenmsmy Sewwlillsd  Cardlwbwibrd@sHed uBpslw  uwb  SmLugTed
saoiwny  0zmhled  (pmeiGaunieeT  euTewiL  BLAIQSHMBHMENMULD  LFHHTHD
(WwBFeenenud &i(HbPall[Haleime].

II. waeoraisHaleusbdear FHBHOGMOUID, FOSHTSHH 6T  HBenouleTeniou|d SHeoLILL
CUTHEMTHTTSHSHEO STewIlILI(B 63601

a. I, II & b. I &f c. I sl d.L Il seum e. alenL GQafweaisoensv

Arjun borrowed a sum of ¥ 5,000 from a bank at 5% per annum. Find the
amount to be paid at the end of three year.

a.X 5,750 b.< 5,500 c.X 6,500

d. < 4,500 e. Answer not known

ojerat @@  auBEulmbha UMBHSG 5% ey eaisd I 5000m& sLemsll

CUIBB]. cpaim  opemibseiar  (pgalled o]  CFashs  Geuewigul  OLOTHSHS
CBHTENBMUI HTEMWIS.

a.% 5,750 b. % 5,500 c.% 6,500
d.< 4,500 e. alenL  Gafuwealsvemev

The value of a motor cycle 2 years ago was X70000. It depreciates at the rate of
4% p.a. Find its present value.

a. 65312 b. 64312 c. 64512

d. 65412 e. Answer not known

QT B FEH] UTEAHHT aleney 2 WIBHEHHE (W6l h.70000 & SHHSHIH
OIHFT A  PWIGCHTHID 4% eipd Gopdna @i, SHEr  HHCLITMmSHWI
SHInLS SIS

a. 65312 b. 64312 c. 64512

d. 65412 e. alenL  GaMuweailsvemev

A T.V set was sold for Rs. 14,400 after giving successive discounts of 10% and
20% respectively. What was its marked price?

a. Rs. 21,000 b. Rs. 19,000 c. Rs. 20,500

d. Rs. 20,000 e. Answer not known

QFTLT SHemenLigss (epGuw 10%, 20% eemeuTsl @ OHTenevshHT S QUL  eb.
14,4008 aIBaUULL S 6aled DiHeT GHBIHDH elenev 6T6ien?

a. Rs. 21,000 b. Rs. 19,000 c. Rs. 20,500
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d. Rs. 20,000 e. alenL  GaMuwialsvemnev

23.  Find the compound interest on Rs 3125 for 3 years if the rates of interest for the
tirst, second and third year are respectively 4%, 5% and 6% per annum.
a. Rs. 492. 25 b. Rs. 724 c. Rs. 1562
d. Rs. 3617.25 e. Answer not known
(PSH6L, OJERILMD WOBEBID cPIBTD SLemiheaTear aully aldsmider (WwapBuw 4%, 5%
BEId 6% eaeied, 3 UTBBEHHES 0H.31255@F gnl Bl 19eUIS HTEHH
a. Rs. 492. 25 b. Rs. 724 c. Rs. 1562
d. Rs. 3617.25 e. alewL  Oafwalsbensv

24,  spsemiLappel Fflwrams CHiTbOHHoHIaLD.
L. ereien  piewense) CUBBIGHSTEID BTSN  SifleBHomemul  (iga]  GlFIMS)
DEDSHTEOI.
2. oapregl BHeoeufluled OFeveud BFTdHsHemevd 6ldHaHEE0TD
3. eapreigl HauPuled OFeveud FL(HeUSME SHINETULDTHEVTLD
a.1 oG b.2,3 c.1,3 d.1,2,3 e. alew Oz fwalsdenew
Choose the correct statements
1. Eventhough one has great knowledge fate is the deciding factor
2. Fate can prevent the accumulation of wealth in a good way
3. Fate can help the accumulation of wealth in a bad way

a. 1 only b.2,3 c.1,3 d.1,23 e. answer not known

25.  Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 years

is ¥ 1134.
a. 22000 b. 20000 c. 18000
d. X 16000 e. Answer not known

15% oewih euliguied 3 SLeEmihaEndhEG FHmLHPH Sl 9b@GHD  Fnl Beul 19sH@GLD
e Cuiwgeiten alSHWITFD eh.1134 6TaN60, HIFMEVSH HT6wIH
a. X 22000 b. X 20000 ¢. 318000

d. X 16000 e. alenL  Gafuweailsvemev

26.  Choose the correct statements.
i. GDP deflator is an index of price changes of goods and services included in

GDP.
ii. GDP deflator = ~NominalGDP .5
Real GDP
a.i, ii b. ionly c. ii only
d. none e. Answer not known

Fflwrer gmpplenend CaHIbHOS6.

i. GDP geomiiurer eeiug GDP uied @il Belten LIGwILBibeT oBBID  Licwllser et
allemeoomBm  @Gpsluil Gl ewr.

uewiogliyy GDP y

ii. GDP @genpliumer = 100

o et emio GDP
a.i,ii b. i’ Bib C. ii ol (Bb
d. gsidevenso e. alewL Gafualsbenso
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27.  Consider the following statements

Assertion (A): During inflation, debtors are the gainers while the
creditors are losers.

Reason (R): The debtors had borrowed when the purchasing power
of money was high and now repays the loans when the
purchasing power of money is low due to rising prices.

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) is true, but (R) is false

c. (A) is false but (R) is true

d. Both (A) and (R) are true and (R) is not the correct explanation of (A)

e. Answer not known
LeTeU(BLD SnBmISen6T LITUISH.

FBml (A): Uewiaisd HTeuHHe0 &L  OuBCBT] SLHTLSHMBUID, HL 6
UPRISGWITT @priemLuD &he8 866l
&myerd (R): SLST  aUTRISWOUTINEH U] o Wamde b Leneiss

STVHH6L HHULNF CFSHID CUTIHSHI LGOI (G eDBeUTS
BOBLUILSTED SLeT eUTRISGWITT LB TUILDEDL & 6ITB6IT].

(A) B (R) @yewip Ffl, Gwad (R) eeug (A) alBg sflwmer alendasld.
(A) a1, spemed (R) geu

(A) soum, apemed (R) &1l

(A) vppid (R) Ggewi &gf, Goed (R) eeug (A) olpg sflwner alendsid
SI606D

e. alemL Ogfwalsdemen

e oe

28.  Choose the incorrect statements about Reserve Bank of India.
i. It controls the Fiscal policy of India
ii. It commence its operations on 1 july 1935
111. The RBI act was enacted in 1934

1v. It was nationalized on 1 January 1949

a.iand ii b. iii and iv c. ii and iii
d.iand iii e. Answer not known

@b flajel eums uBBw sEmBpIseTed HeupTeienel eleneu?

1. B PFHés Osmeimsuienear Geureameno GFUISBS

ii. geemev 1, 1935 (WpHev OFWEOLIBHS GBS

iii. @bHw flage eumid FULID 1934-60 SUIBBLILILL GI.

iv. geteufl 1, 1949 @ev CapdwowIoTSSLILL L .

a. i @b ii w’ Bid b. iii woBmb iv C. ii @b iii L Gd
d.iwmmpnb iii e. alowL GaMuwealsdemev

29.  Consider the following statements
Assertion (A): RBI acts as Banker's Bank
Reason (R) : The Banks can borrow from the RBI by keeping eligible
securities as collateral at the time of need or crisis,
when there is no other source.

9 | Page 044-24339436, 42867555, 9840226187



a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) is true but (R) is false

c. (A) is false but (R) is true

d. Both (A) and (R) are true and (R) is not the correct explanation of (A)

e. Answer not known

LeTau(hHeueTeUBenm  SLITUISH.

amml (A): RBI il seilen aumdwnsd QFuweouGapgl.

aryewid (R):  euemila AURIF B ETH (&) SHJbH Buieurg B & FF HH60SH6N
gUUELOLTIRS,  HHSSHTRT BB USTIHRS6T  B6060TSH
GHmeouied  SFFebHelelbha  WeTaugmd ~ RBI  eumig)
FL(HbBLMT DieNHIH 2 Ha| BB

(A) wppib (R) @rewipd &f, Goaib (R) eemug (A) alBg sflumer alendslb.

(A) &9, spemed (R) geum

(A) saum, apemed (R) &1

(A) wppd (R) GrewiGw &fl, Gueud (R) eeug (A) albe

allenL  Ggfwalsdenev

Can o

30.  Consider the following statements.

I. Foreign Portfolio Investment is an investment in hedge funds, insurance
companies, pension funds, and mutual funds.

II. FPIis part of capital account of Balance of Payments.

a. I, IT are correct b. Iis correct c. Il is correct

d. none e. Answer not known

LNeTeU(HLD  SnMBBISeN6T QLITUIS.

[. QeuelBILB B cPeOHID 6IILIGI LewgFhend LBBID (WPaiuy ma Fhandsered
B BpeuamseT aufluns QFuuiuGl B LPeOSH6ILD.

II. GoualBT B B cweuFHard euTenliug CFISHHIF FLOBEM6D (LPOHRNH SIS ([

UGS
a. I, II & b. I & c. I &
d. gaifevenev e. alewL GaMuwealsvemev

31.  Which of the following is correctly matched?
i. Article 112: Annual Financial Statement of Union Government.
ii. Article 116: Definition of money bill.
iii. Article 202: Annual Financial Statement of State Government.
a. i, ii b. i, iii c. ii, iii
d. i, ii, iii e. Answer not known
Letteu(heussteuBmie Fflumasll GuThbdweneu?
1. algd 112 — wHHw owdear aumBLIHHT HH Dfbms.
ii. alg 116 — ueoBsnsHTalBaTear B Dbans.
iii. @flg 202 — wmpev WS auBLIHAT B Db
a.i, ii b. i, iii c. ii, iii
d. i, ii, iii e. alewL Gafualsdenso
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32. &pm  (A):  empredd HWHE o Mwemer  DELETH  QUTHETEET  eUBHHSH
sTiumBPlemed  SmISToed Bur@ld, Hwdh@G o M GuThHeTHmeNL
UssH8s Gumul etsibgiall LTevld Heno ol (B SISH60T.

srgewid  (R): emempal 16  eueleniouleenensy  Geuml eclemel o 6iTenen?  2sTEMLD
alevd@Gld GUTHLB LBOBTH aufledwl ITUIHSTEIILD SDBIGD  HTC6T
WelieUbgl BIBESLD

wppib (R) M Gusud (R) esiug (A) &@ gfwmer alensaor@L.

wppid (R) &M eemed (R) esiug (A) s@ sflwmer afenssosien

afl opemmed (R) seupl

) soupl spemmed (R) &

e. alewL Oz fluwaisbensv

Assertion (A) Whatever is not conferred by fate cannot be preserved although it

be guarded with most painful care; and that, which fate has made his, cannot be

lost, although one should even take it and throw it away.

Reason (R): What is stronger than fate? If we think of an expedient (to avert it), it

will itself be with us before (the thought).

A and R are true R is the correct explanation of A

A and R are true R is not the correct explanation of A

A true but R false

A false but R true

Answer not known

- (
- (

(
- (

0N oo

A
A
A
A

a0 o

33.  Match the following
Finance Commission Chairman
A. Twelfth 1. Vijay L. Kelkar
B. Thirteenth 2. C. Rangarajan
C. Fourteenth 3.Y.V. Reddy
D. Fifteenth 4. N.K. Singh
A
2
1

ponoop

R NN RO
R W W A
W W

2
e. Answer not known

HPB&W SHED6V6U]T

A. uaTalQrewLTeugl 1. aflxgus L. Gsevsmly

B. udepemreaig) 2. C. jJrRIsFTeges

C. udpraismalg 3.Y.V. Qi

D. ugemaibsreaug 4. N.K. dmi
A B
2 1
1 2
1 2
2 1

alewL  OFfluwaisdensv
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34.  Match the following.

A. Gandhian plan 1. S.N. Agarwal
B. People’s plan 2.].P. Narayan
C. Sarvodya plan 3. M.N. Roy
A B C
a. 1 2 3
b. 2 3 1
C. 1 3 2
d. 3 1 2
e. Answer not known
QUTHSHHIS.
A. sThHHWSSH L 1D 1. S.N. oisjeauTed
B. dasen S L1d 2. J.P. mmymuiesst
C. sGaumdwmd L 1b 3. M.N. gmul
A B C
a. 1 2 3
b. 2 3 1
C. 1 3 2
d. 3 1 2 e. alowL Gaflwalsdenso

35.  Consider the following statements
L. First conference of GATT was held in 1947 (Switzerland).
I1. Uruguay Round is the Final Rounds of GATT (1986 - 1994). It paved way
for setting of WTO.
III. ~ The WTO Agreement came into force on March 1, 1995.
IV. At present 188 countries are the members of WTO

a. I, II, III, IV are correct  b. I, III are correct c. I, IT are correct

d. II, IV are correct e. Answer not known

LeiTeu(hlD SnBmISHemeT LU1H

L. GATT gemwiie (psHed wwipTH 1947 b ewih  eroall FJeomhdeo
HewL OILIMBBSI.

II. GATT- Wt semLd wrpmh 2 ;GG amm (1986 - 1994) ausb. BFHG6u
2 08 AJHHS WD CHTaEIB eauleuESHHI.

OI. WTO o_Leagsmas bl (pevpdsd elbd Brer wmjs 1, 1995.

IV. WTO afed gBCuTEH 188 BT(HE6T 2 BIILIQITHeTES 2 6T6Te].

a. [, I, III, IV & b. [, I & c.LII &f
d. II, IV af e. alewL Gafuwealsvemnsv
36. The High Yielding Varieties (HYV) used in green revolution were
1. Rice 2. Wheat 3. Maize 4. Jowar
Which is correct?
a.1,2 b.1,2,3 c.1,2,3,4 d.1,2,4 e. Answer not known
ugemp Uyl dluled SIFHs allenendFFsd HHD JTHMIS6T 61He0 LweTUBHSUILIL L FH7
1. o4 2. Gargienip 3. W&HTFGFTENLD 4. @gmemb
gflwnereuBenssd CHIHOSHBHHS.
a.1,2 b.1,2,3 c.1,2,3,4 d.1,2,4 e. alowL  Gafwealsdemnso
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37.  Match the following

A. Jupiter 1. Titan
B. Saturn 2. Triton
C. Uranus 3. Deimos
D. Neptune 4. Titania
E. Mars 5. Callisto
A B C D E
a. 5 1 4 2 3
b. 3 4 1 2 5
C. 3 4 1 5 2
d. 5 3 4 1 2 e. Answer not known
QUT(HSHHIH:
A. allwmpest 1. enLL_L6ir
B. Fef 2. 19emJL L 6o
C. wByererd 3. IelDerd
D. QOmpliguyes 4. emLLmeflwim
E. Qgeusumuli 5. GaelerdGLT
A B C D E
a 5 1 4 2 3
b 3 4 1 2 5
C 3 4 1 5 2
d 5 3 4 1 P e. el OxpMwaleienev

38.  Which of the following statements is/are correct?
1. Himalayan Mountains are the youngest fold mountains
2. Himalayan Mountain is known as “The roof of the world”
3. The Pamir Knot popularly known as “The abode of Snow”.
4. Eastern Himalayas is known as Tibetan Himalayas
a.1, 2,3, 4 are correct b.1, 2, 3 are correct c. Only 1, 4 are correct

d. Only 1 is correct e. Answer not known
Leiteu(HD Sn@BmIsHeriev eTemeu Fiflwimeng?

1. BuwIemevd OCGHTLTH6T @D WIQUIL] OMeVS OBHTLTH6T SLEGLD.

2. BUWIDMmeL ‘@ 60HIET Fned] 616 DIMLPGHBLILIHBBS.

3. LSFwsFs “uell o _mmpalld” 66l DIMPSSLILIGSMBSI.

4. Hpd@ BLWILmeGHOHTLT “Heudhauwer @ouInems0” slamabd HenPSSLILBSBSI.
a. 1,2.3,4 a1 b. 12,3 & Cc. 1,4 w @B &

d. 1 w @b & e. alewL Gafuwalsdenso

39.  Consider the following statements

The north-south extent of India is 2933 Km

The east-west extension is 3214 Km

Sikkim is the smallest state (Area wise)

Rajasthan is the largest state (Area wise)

India’s central meridian is 82°30" E longitude it passes through Mirzapur,
Uttar Pradesh

ANl b
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40.

41.

42.

a.3,4,5 are correct b. 1, 2, 3 are incorrect c. 1, 2, 3 are correct
d. 1, 3, 5 are correct e. Answer not known

LeTeu(BD SnBmIBemen LIS

1. @bawur 2933 &b aLsg 0BG ey uFailujeTeng

2. @pHwr 3214 &S euewy Hwdhg — CuBars uyaiuleTengl.

3. dadlb @bHwumaler WHeFHABiw wrmeod (UFliuenalesrLig)

4. grgevgTer @haHlwmaler Waslbufiu wrpeob (LFliLenaleiLig)

5. @bHwmaler wHAW HTssCrams eaiLg 82°30° HpsE. Bal 2 HHTLNICHFHHe0
WysTyy eufluns GFe0amE.

a. 34,5 g b. 12,3 seum c. 123 &gl

d. 1,35 g1 e. alenL Gafwealsvenso

SIBLILITITLOGH B6L6VTIT 2_MBHBLIT6D

a1’ LT SPUD eTeller.

a. gIIUMTHES, b. sitiLT&E C. SIILTey

d. sy e. alewL OxpMwaledenso

thuRappaarman villaar uRaRpaala

oottaa kazhiyu menin

a. thupparku b. thuppaki c. thuppura

d. thuppu e. Answer not known

Assertion (A): All rivers originating from the Himalayas are perennial

Reason (R): Himalayas receive much of their percipitation from south

-western monsoon
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true and R is not the correct explanation of A
c. A is true but R is false
d. A is false but R is true
e. Answer not known
B (A) : Sowiomeouied 2 (HAUTGLD DBIHET DMETHHID AIBBTSH 2IUBHBETTHI,
EAEAhE A
smyenid (R) : @owioensd  GupbuTerer wenpll GuTiflensy  COHemGLME  LiHeud ) 6T
eeold CUEBIF MBS
a. (A) oppid (R) @yemipn gf, Gwed (R) etesiug (A) i@ sflwmer alendsid
b (A wip R) GrewiGd &, Gweumd (R) eeuzs (A) olBg gflwmer
a6 10606V
c. (A gf, epemed (R) seum
d. (A) seaum spemmed (R) &
e. alewL G flwalsenso

The western part of the central Highland is .

a. Bundelkhand b. Bagelkhand c. Chhota - Nagpur Plateau
d. Malwa Plateau e. Answer not known

wHHW o _wipeoliugdHulsr GuoB@l uGs .

a. LIGWTL 60 HeuiL b. umsed Sewi c. Gamiim mreyy Ly
d. wmemeurt 1Liyh e. alewL GafNuwaledenso
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43.  Consider the following

L. Normal lapse rate: Temperature decreases at the rate of 65°C for every
1000 meters

II. Weather refers to the state of atmosphere of a place at a given point of
time.

III.  The word ‘monsoon’ is derived from the Arabic word ‘mausim” which

means ‘season’.
IV.  Sahara desert is the driest place on the earth.

a. I, II III, IV are correct  b. I, III, IV are correct c. I, II are correct

d. II, III are correct e. Answer not known

LeTeU(BD FnBmIBemen LIS

L. Buie0L] Oeur'IL afpF : yallugliledmba 2wy O F60606F6L6L
aueflemieudded  @eubeumn 10005 o wpsHBGEHL  65°C  GeuliLmpensv
G RIE

II. auteflemev  eteLg @B GUUILL  @LHH0 2 _6ilen  6UeITLOGIIL 6053 6T
SHSTMOMWS GBILLSTEGLD.

I1I. “loTe@yer’  eTeBOFTeL  “Oendlib” el oy GFmeLeled (B I GBI L G
B&H6 OUITH6T LI(HeUSTEVLD.

IV. Fammyml uTenevelaid LOuiGeoBW euBemiL  LiGWmELb.

a. L II, IIL, IV & b. I, III, IV &f c. L II &4

d. II, IIT &1 e. alewL Gafwalsdenso

44.  Which of the following soil is very rich in humus?

a. Laterite soil b. Alluvial soil c. Black soil
d. Mountain soil e. Answer not known

Leieu(BHLD 61hG LDGWTenI60 DIHHLOTE BeneVIDdE FhHHHH6T 2 6itemen?
a. FJeneN LD b. euewi_e0 0w C. gflFed LDewT
d. wemevLoewsT e. alewL GaMuwealsvemev

45.  The marked price of an article is 20% more than its cost price. A discount of 10%
is given. After discount the price is Rs.518.40. What is the cost price?
a. 480 b. 576 c. 596
d. 598 e. Answer not known
R  Qurmpeller oL dsalmevent el GBiSH alwe 20% DIHBLD. b
QuTHEDEGEH 10% Het@bLly  HIILGHMBS. SHelepLIgdh@ et GuTmefler  allenso
H.518.40 ereflev, SIHH OUTHeMedT DI dbHalensv eTeinen?
a. 480 b. 576 c. 596
d. 598 e. alenL  Gafuweailsvemev

46.  The cost of a machine is X 18000 and it depreciates at 16% % annually. Its value

after 2 years will be .
a. 12000 b.X12500 c¢. X 15000 d.X16500 e. Answer not known
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2
T BuhbArsHer alewev h.18000. SiFH DEW(HHES 165% afsb  BauioTed

SIDLEBHI. 2 HWBBEPSG UBG, SHT WHIY S
a.¥12000 b.X12500 c.X15000 d.X16500 e.alenL Gafwaisdenso
47. A sum of money at simple interest amounts to Rs. 815 in 3 years and to 854 in 4
years. The sum is
a. Rs. 650 b. Rs. 690 c. Rs. 698
d. Rs. 700 e. Answer not known

R Catems sHeafalguisd 3 aumBLSH h.815 uFBaH. DHG6e, 4 aUBLSH ob.
854 I FIBH THIBTO Db CHTNS 6T6le6T6,|?

a. Rs. 650 b. Rs. 690 c. Rs. 698
d. Rs. 700 e. aleowL  Oafwalsbensv

43.  "ofley oMM HTHGW HHal e QFTBOBTLfer GummeT wmg?
SIBe], LeNS UITE STHGD SHHalTGLD.
ofley, BHTe6! HTHGWD SHOIWMEGLD

SIB6], LS UMD STH@GHLD SHalwm@GLd
ofley, ey GUITDED HTHGD SHOIWMEGLD

. allewL  Gxflwealsdenso

Give meaning of the following line

aRivatranG kaakkunG karuvi

Knowledge is a tool to prevent enmity
Knowledge is the tool that control the tongue
Knowledge is a tool to prevent fame
Knowledge is a tool to prevent destruction
Answer not known

Pan o

o a0 o

49. A sum Rs. 800 amount to Rs. 915.92 in two years. Then the compound interest
rate is

a.6% b. 4% c. 7% d. 8% e. Answer not known

@h. 800 el SiFeL BFewiLmenwi(®  (igaled h. 915.92 SLFBHI elefled Gl (B eully
FHPLD HT61H.

a.6% b. 4% c. 7% d. 8% e. alewL Oz fwalsbensv

50.  Gain or loss percent is always calculated on the

a. cost price b. selling price c. gain

d. loss e. Answer not known

®6oTL IeLeVGHI BL L FHAISHD GIGLTRGID Guoed HemTSHSILLILIBLD
a. 9IL&HHaemn60 b. elBuemer alenev C. ®6omuD

d. prLwb e. aleowL  Oafwalsbensv

51.  Which of the following statements about alluvial soil is/are correct?
1. Rich in nitrogen
2. Poor in Potash
3. Distribution: Ganga and Brahmaputra river valleys.
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4. Crops growing : Rice, wheat, sugarcane, oilseeds.
a.1,2,3,4 are correct b. 1,2,3 are correct c. Only 1,2 are correct
d. Only 3,4 are correct e. Answer not known

euewiLeooewt LMY LleiTeubd FnBmiseiled eTemen Fiflwimereneu?
MBLINET FHFH DIHBLD.
QuTlLTHwb 5% WS GmDB6.
LJ6U6D : SMmInd LOBMID LITDLUSHIT BBIL LIGTENSHTHEDH6N.

1,2,34 &1 b. 1,2,3 & Cc. 1,2 w @B &

1.
2.
3.
4. auen(B LUNTHET : OBed, CHTHIMD, H(HDL|, 6TeRIGWIUI aNSHHIHDHET.
a.
d

. 34 wlEw g7 e. alewL Gzflualsdenso

52.  Which of the following statements is/are correct?

1. India is the second largest producer of rice in the world after Bangladesh.

2. Rice is a tropical crop, grows mainly with mean temperatures of 22°C and
annual rainfall of 130cm.

3. Wheat crops requies 10-15°C temperature at the time of sowing and 20-25°C
at the time of ripening.

4. Rajasthan is the largest producer of Jowar.

5. Jowar and bajra are the indigenous plant of Africa.

6. Barely is used for making beer and whisky.

a.1,2,3,4 b.1,2,3 c.356

d.34,5 e. Answer not known

Letteu(pld FnBmISelled eTeweu gifluwimerrene?

L.

2_6u&6Nal 60 SIS 2 MussHluiled mBCHFHH MG Db @b
BreWILMOL HFH60 2 _6iTerngl.

2. Ome0 @ ouwer wewiLeoliuuly. 22°C GeuliuBlenso 130 GF.15. WwePLIGUTH®] OBed
alleneml gimpene.

3. Gargimp almemu alngd@Gb UmagbHe 10-15°C Qeuliupd, (W md Blensouled
20-25°C Qauliupleneowyd ChemeuliLIBGABS.

4. Ggmemb o BuGHHUTD @HHwTaled BITEVHTET  (PSHETEID 2 BLIGHHWTENITS
alenMmIG I B

5. &by wBsb Camerd SLilyssTamelll UJalsonsd 6CETewILemne.

6. unjel Ly wmpid efewdl srwiflésl LwWaTLGSSLILBGSBSI.

a. 1, 2, 3, 4 b. 1, 2, 3 C. 3,5 6

d. 3, 4, 5 e. alewL Gafuweaisvemsv

53.  Which of the following statements is/are correct?

1. India is ranked third in sugarcane production in the world after Cuba and
Brazil.

2. India is the second largest producer of sugar in the world.

3. Uttar Pradesh is the leading producer of sugarcane.

4. Chattisgarh is known as sugarbowl of India.

a.1,2,3,4 b.1,2,3 c.12

d. only 3 e. Answer not known

Lelileu(HD Fn@BmIBHeriev eTemeu Fiflwimenensy?
1. @bHwr smby 2 BusbHuied adwur, LIGrHed oIBGHH 2 evsmenaled peTBTLOLLD.
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2. @bHwT FIHHeny o BuUHHUTD 2 cudenaled @6 MmOl Lb.

3. @bHwnaled o SHHIIIICHFID &Y 2 BUSHHUTD (PHETENLD LOTHEVTS 2 6iTen).

4. FHHH] DHHWTaleT FTHHMIDH HlewieniD 6THIBNLOHHLILIHES OB

a. 1, 2, 3, 4 b. 1, 2, 3 c. 1, 2

d. 3 w’ @b e. alewL GaMuweisvemev

54.  Which of the following statements is/are correct?

1. First Jute mill in India was established at Rishra near Kolkata by George
Auckland.

2. India is first in export of jute goods.

3. Central Silk Technological Research Institute was established in 1983.

a.1,2,3 b.1,2 c.2,3 d.1,3 e. Answer not known

eteu(pld FnmBmIselled eTemeu Sifluwimeneneu?

1. @hHwunaler (pHed Feuied SN0 OCBTELOBTHIT DIHBL Fladgm eTaIEIiL 6L
oTJey SHH6E0THSHI CTILITTE0 GIGHTL MISLILIL L .

2. @bHwm FeoreGUTHLSH6IT gBUBILSHUled (LPSHeVILLD.

3. wHFHW UG euenmliy eumfluid 1983-&60 HIBIGULILIL L GI.

a.1,2,3 b.1,2 c.2,3 d.1,3 e. ol GaMwaledenso
55.  Match the following

Name of Industry Establishment Year

A.TISCO 1.1982

B. IISCO 2.1972

C. Salem Steel Company $* 1923

d. Visweshwaraya Iron Steel Company 4. 1911
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 4 1 2 3

d. 4 2 1 3

e. Answer not known

QUTHSHHIB

CampaTensoulesr GLIWIT SL60T(H

A. TISCO 1.1982

B. IISCO 2.1972

C. BGzould 61.".& a6V 3.1923

D. allerdo@eusrveuguiuimr @b 61.".& HiBIeUeId 4.1911
A B C D

a 1 2 3 4

b. 2 1 4 3

C. 4 1 2 3

d. 4 2 1 3

e. alenL Oz flwalsvemnso

56. o eitemb Gumem GurdGdaied GFevevaILTIO, SHewwuleieml HHS  HeirenLouedra et
CFudhaiaug 61gl?
a. bl b. &®weL c. 9Py
d. ysp e. alewL OFfwaledenew
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Not to permit the mind to go where it lists, to keep it from evil, and to employ it
in good, this is
a. friendship b. suffering c. wisdom
d. fame e. Answer not known
57. Which of the following statements is/are incorrect?
I. North-South corridor connecting Srinagar with Kanniyakumari
II. Distance covered by North-South corridor is 4076 km.
III. East - West corridor connects Slichar with Ahamadabad.
IV. Distance covered by East-West corridor is 3460km.

a. [ Il b.II, IV c. I III d.II, III e. Answer not known
LeTeupd SnBmiseiled SHeupmeiena sleneu?
L. AL-056T  UGHdmen  DmeniSGLD  FTeme0  UfBST  LBBID  Hesteiwm@ Lo

B Cw iemLobHGI6eNTeNSI.
II. L -Opar gTemeoullesr Herb 4076 &l.L6.
III. Suwsg — Cume FTemwen FeOF] LBHBID DIBLSTUTSHMS EeneNTHIBH.
IV Apdd — BuBE UGHBmen Bmaib@Gd Freneoulst Bembd 3460 km.

a. ] II b.IL IV c. I, III d. II, III e. alowL G flalsiene
58.  Match the following

Railway Zone Headquarter

A. Eastern Railway 1. Hazipur

B. East Coast Railway 2. Kolkata

C. Central Railway 3. Mumbai

D. East-Central Railway 4. Bhubaneswar
A B C D

a. 2 1 3 4

b. 2 3 4 1

C. 2 4 3 1

d. 2 4 1 3

e. Answer not known

OUThSSHIB

LDGUITL_6VLD HemevenLouilLLb

A. SipsdE BrulevBeu 1. emdliyy

B. dwse s By BruisoGe 2. HOBHHT

C. wgsaw BruievBeu 3. (pLbemLl

D. s wHIW ruieoBe 4. LeuGeterderiy
A B C D

a. 2 1 3 4

b. 2 3 4 1

C. 2 4 3 1

d. 2 4 1 3

e. alenL Oz flwalsvemnso

59.  Match the following
National Waterways Place
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A.NW1 1. Sadiya to Dhubri

B. NW2 2. Allahabad to Haldia
C.NW3 3. Talcher to Dharma
D. NW5 4. Kollam to Kottapuram
A B C D
a. 1 2 3 4
b. 1 2 4 3
C. 2 1 3 4
d. 2 1 4 3
e. Answer not known
QUTHSHHIB
Gxpdlw Byeuld ®L1b
A.NW1 1. gmowmeled[mha S 1fleueny
B. NW2 2. SOSTUTSH(HHSH amTeOHWIT
C.NW3 3. srevafluled bl STyT
D. NW5 4. Qameveolfed(Bhg GCsmlLLyLd
A B C D
a 1 2 3 4
b. 1 2 4 3
C. 2 1 3 4
d. 2 1 4 3
e. alewL Ggiflwealebenso

60.  Arrange the following in descending order based on their iron content

i. Hematite ii. Magnetite iii. Siderite iv. Limonite

a. i, ii, ii, iv b. i, ii, iv, iii c. i, i, iii, iv

d. i, i, iv, iii e. Answer not known

Ueteu(pld  HTHISEBM6N  SluBpslest SpbLler  Sieey SigliienLuled EmmiGeuflenguisd
T(DSIB.

1. GamemnL L~ 1i. GoderenL L iii. Frenyl 1v. e0@LomeneL

a.i, i, i, iv b. i, ii, iv, iii c. 1, i, iii, iv

d.ii, i, iv, iii e. alewL GxMuielsdemev

61.  Arrange the following in ascending order based on their iron content?

i. Bituminous ii. Peat iii. Anthracite iv. Lignite

a. i, ii, iv, iii b. ii, i, iv, iii c. i, iv, i, il

d.ii, i, iii, iv e. Answer not known

LeiTau(heuaiouBens  Sleummlest STTUGT Sleeneal SgliLienL Wing 0BT  gmieuflenguisd
SIMDHBALD.

1. LI BLiesterd ii. 15 iiil. gubHTTEMFL V. eVldement

a. i, i, iv, iii b. ii, i, iv, iii c. i, v, 1, iil

d. i, i, iii, iv e. alewL Gafualsdenso

62.  Which of the following is/are incorrectly matched?
Minerals India’s Rank
i) Iron Ore - 1. 4th
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ii) Manganese - 2. 6t

iii) Bauxite - 3. 5th

iv) Gold - 4. 33

a.i,ii b. iii, iv c.ii only d. none e. Answer not known
Leteu(meusteuBmlen QUTHSHHLBBmS BCHiTey OFUIsH.

S LOMISH6IT @hgHwmealer b

i) BmiusssI : 4eug|

ii) st - 66U

iii) umdemeroL - S6ug

iv) smhisLD - 336ugl

a.i, ii b. iii, iv C. ii oL (Bb
d. ergieyflsvensv e. alenL Gafwealsdemnso

63.  Which of the following race has the smallest limb ratio?

a. Negroid b. Caucasoid c. Mongoloid

d. Australoid e. Answer not known

Ueteud 6lhd sl WaFFBW cpl b aldlsdHma OsTemi(Beiener?
a. paymuI®H b. srssTiIB C. wiiBsmeorui®

d. euervL yeorui® e. alewL GaMwaledenso

64.  &BEp (A) : 2 vaH3H 2 WThHeuem] Bl LTES B0 TS FBbHe Difley.
smyewd  (R):  weGear  walpbgs alfseud HaGar aumpbdls Galded Se0sors
1oy
a. (A) wBpd (R) sM Gwed (R) eeug (A) &g afwrer alenbsom@L.
b. (A) wBpd (R) &M egemmed (R) erasiugs (A) @ sfwrer afonssosoen
c. (A) afl semmed (R) seup
d. (A) seup syemed (R) &l
e. alemL oz flwalsveneo
Assertion (A): To secure the friendship of the great is true wisdom
Reason (R): it is (also) wisdom to keep (that friendship unchanged, and) not
opening and closing (like the lotus flower).
A and R are true R is the correct explanation of A
A and R are true R is not the correct explanation of A
A true but R false
A false but R true
Answer not known

o o

65.  Match the following:

A. Grasslands 1. Aborigines
B. Tropical Deserts 2. Kyrghizs
C. Mountainous Region 3. Gujjar

D. Monsoon Region 4. Todas

E. Artic cold regions 5. Chukchi

A B C D E
a. 1 2 3 4 5
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b. 2 1 4 3 5
C. 2 1 3 4
d. 5 1 4 2 3
e. Answer not known

6]

QUTHSHHIS.

A. 1460Guer 1. ourfgdeserd

B. Qeuliuos®i 6o LITeneveueBIGeT 2. &Tdlerd

C. wemeurt 1yBHFID 3. &eqni

D. umeusstpm LpGshaid 4. GapTLiTHel

E. simeu @aflit Lp@shaid 5. &b
A B C D E

a. 1 2 3 4 5

b. 2 1 4 3 5

C. 2 1 3 4 5

d. 5 1 4 2 3

e. alewL O flwealsvenso

66.  The largest tribal group in India is

a. Nagas b. Todas c. Santhals

d. Gonds e. Answer not known

@phgwmaler WsUOURlw LwRGulear Gwp?

a. [BTHTHENT b. @z itmeir C. FMbHEVTHET

d. Gamen(haser e. alewL Gafuwalsbenso

67.  Match the following

A. Active Volcano 1. Paricutin, Mexico

B. Dormant Volcano 2. Mt. Fuji, Japan

C. Extinct and Dead Volcano 3. Mt. Kilimanjaro, Tanzania

D. Volcanic Dome 4. Mt. St. Helens, U.S.A
A B C D

a. 1 2 3 4

b. 2 4 1 3

C. 4 3 2 4

d. 4 2 3 1

e. Answer not known

QUTHSHSHIH:

ufl@Lger OLodeniGsm

LN3Ioemev el ILITeHT

SHlelloeha@rm emev SHesTaTenwIT
CFuI&I CQBeVET LDEN6V, (.6l

A. Gzweou®Bd 6rfioenev
B. senihg ernfliioeneo

C. @pbhs eflioenev

D. @l L erflipenev

sl s

A B C D
a. 1 2 3 4
b. 2 4 1 3
C. 4 3 2 4
d. 4 2 3 1
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e. alemL Oz flwailsvenso

68.  Which is not the erosional landforms of waves.
a. Sea Cave, Sea Arch b. Seas tuck, Seas Cliff c. Bar and Spit
d. Wave cut platforms e. Answer not known
SlmeL M HHe0TeL © (HeuTHSLILBLD BlevdHBCHTBMBLD EevevTHG!?
a. LD GHNH, HLGD 6UN6I6Y b. SLeOGTEHT, HL0EIBIGHET
C. WAL (B, BeWIL Lewied Hi B d. gmev MGLemL
e. alemL Oz flwalsvemnso

69.  Match the following

Name of the cyclone Year

A.JAL 1. 2010

B. THANE 2.2011

C.NILAM 3.2012

D. MADI 4.2013
A B C D

a 1 2 3 4

b 1 2 4 3

C 4 3 2 1

d 4 3 1 2

e. Answer not known

QUT(HSHHIS:

Hwevledr OLIwIT&se6lT LRI ([HBH6NT

A. 260 1. 2010

B. sn@enr 2.2011

C. Beuld 3.2012

D. wrg 4.2013
A B C D

a. 1 2 3 4

b. 1 2 4 3

C. 4 3 2 1

d. 4 3 1 2

e. alemL G flwailsenso

70. A sum of money amounts to Rs. 2,662 at the rate of 10% compounded annually
for 3 Yr. The sum of money is
a. Rs. 2,000 b. Rs. 1,800 c. Rs. 1,500
d. Rs. 2,500 e. Answer not known
10% ouemih auliguiled SERIBHOBTHPDB Ul HeTHBIL LI LTe, 3 S emiBHaEered
61 DIFUTIHI H 2,662 CHTMHWTS HLEGHLD.
a. ap 2,000 b. e 1,800 c. ep 1,500
d. ep. 2,500 e. alenL  GaMuwalsvemev

71. A shopkeeper bought a chair for X 325 and sold it for ¥ 350. Find the profit
percentage.
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a. 7%% b. 3%% c. 6% d.12% e. Answer not known

QM SHMLSHTIT BIBSETIMW (532505 g h.35085E ealBumer OCFWISDBTT,
BT FHAIHHMBHDH HEWILNIULIGLD.
a. 7%% b. 3%% c. 6% d. 12% e. alenL  Gafweailsvensv
72.  spsasmiLaupplel Fllwrarmad CHhHoHBHHLD.
. 9lehaoug DlEhEHTMD DIMeEmL MLD
2. oehFiaugl lehFeL G HemLD
3. opeamLwe (CauGpraimid SeveomsmHilanib) eedeomd o el weuGy SiaT.
4. oflaleveorsmT Gouml eleilenl o WL WeuITed HULIID &Il &eveuTHalGy e
a.1,2 b.2,4 c.1,3 d.3,4 e. alewL OHfwaledenew
Choose the correct statement
1. Not to fear what ought to be feared, is wisdom
2. Itis the work of the folly to fear what should be feared
3. Those who possess wisdom, possess every thing;
4. Those who have not wisdom, whatever they may possess, have nothing.
a.1,2 b.2,4 c.1,3 d. 3,4 e. Answer not known

73. In a laboratory, the count of bacteria in a certain experiment was increasing at
the rate of 2.5% per hour. Find the number of bacteria at the end of 2 hours if the
initial count was 5,06,000.
a.5,31,616 b. 5,28,976 c. 5,67,190
d. 5,43,974 e. Answer not known
QH PUIUSHFe0, @T SITUIFHAUId @ euend LTdleflurdseller eeamanibms @
wenlls@ 2.5% el SFHsisdama. OHTLEHHH0 506,000 uTblefurdss
O mbSTev, 2 el CHISIHBEG LIBE DiH6T elenienihbend 616167
a. 531,616 b. 5,28,976 c. 5,67,190
d. 5,43,974 e. alenL  Gapfuweailevensy

74.  Ashwin deposited Rs. 200 per month for 5 years in a recurring deposit account in
a post office. If he received Rs. 13,830, then the rate of interest is
a. 4% b. 5% c.6% d. 7% e. Answer not known
Slagaler  @albeum(h THH HUSEHHID h. 200 @F DehFSHIHL 5
ABBEHHSG OFHH ubHTT. (Wyaled Seuy b 13,830 GuBBTT eefled, Uiy
al&lsd
a. 4% b.5% c.6% d. 7% e. aleowL Oz fwalsbensv

75. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 18
% profit. He gains 10 % on the whole. The quantity sold at 18 % profit is
a. 100 kg b. 200 kg c. 300 kg

d. 400 kg e. Answer not known

QUH GUNBT SHaTelL(LpeiTen @(h UGHFH Siflfeww 8 Fpaldlsd eomusbHIHBGL WHenus 18
FHalddH OTUSHBGSWD aIBumer OFUIHH6L GLomdHpeten 500 &HGeor oflfdg 10
FHaldld eomud  CuBprT. SeuT 18 FHeldls  eomusHHBG  alBm  oiflfufer
SIeTEUTEISH!?

a. 100 &Gevr b. 200 &Gsur c. 300 #HBsor
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76.

77.

78.

79.

d. 400 &Geur e. alenL  GaMuwialsvemnev

Dumbhal is dance form of

a. Assam b. Arunachal Pradesh c. Uttar Pradesh
d. Jammu and Kashmir  e. Answer not known

SIDT6L 61l eUemd BT Iguild GHmeirslul  LoTHlevLD

a. 9IENeNMLD b. eimemmFFeorIyGsaid C. 2 HarilyCsaid
d. mibap wBmid sTedST e, el Gafuiaiedemev

India was described as Land of “unity and diversity” by whom and where

a. Rabindranath Tagore in Gitanjali

b. Mahatma Gandhi in ‘My Experiments with Truth’

c. Jawaharlal Nehru in ‘Discovery of India’

d. Subash Chandra Bose in “An Indian Pilgrim’

e. Answer not known

AbHwr "CouBpienouled @BBIMD STEmID BTH ™ 6160 6THIE WTFTEL eU(hHewllbalUL L g7
a. JeibAIBTH ST HOGH HHTEhFeilulsd

b. warHwT HMHAH Hog "FHHW GFTHMEUNED

C. Mmeusiteomed GhH S H “gervseufle St @ewrouim @iled

d. sumay ghHrGured Hwgl “@d SHHw Lelsl uwewID”

e. alewL G flwealsdenso

Consider statements regarding National Flag.

1. Length and width are in Proportion 3:2

2. First national flag was designed by Tirupur Kumaran.

3. First Indian flag was woven in Gudiyatham, Vellore

4. Karnataka Khadi Gramodyoga Samyukta Sanga, Hubli is only licensed flag
Production unit in country.

5. flag was adopted on 22 July 1947.

a. All the above b.1, 2 and 3 only c.1,2,3 and 4 only

d.1,3,4 and 5 only e. Answer not known
BLgH CHFWSH0BTRHGL GUTHSHLOTEIIBMMB, SpHHemLauBBIeT CHThoEHMHHEHa WD

1. o i@ - 3:2 6B el HId

2. (paev Cxhdwd Gamg HHLLT GLOTEITED IQaINLOSSLILIL L Gl

3. (&0 @hFHwd 0Fmy GUTSHHD (CeusurT) @0 OBFe] GEFuIwLlILLL

4. Qamg 22.07.1947 Sien DhISHTSSILLL S

a. gadhgId gflwreienar b. 1, 2 wBmid 3 c. 1, 2, 3 wBypub 4
d. 1, 3, 4 wBmbd 5 e. alewL Gafuwealsvemsv

How many women members and total members were there in the constituent

assembly
a. 18 and 389 b. 15 and 300 c. 15 and 389
d. 18 and 300 e. Answer not known

SIrdlwed Mmifewiw  Feouuled SphHeH Ouewt o mliilen wB@ID Owrshs o mitiierf
eleuTeml b  WITHI?

a. 18 apgev 389 b.15 wpgev 300 c. 15 waed 389

d. 18 wgev 300 e. alewL Gafwealsdenso
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80.

81.

82.

Wmhdb@ SieuT BHEHRIGWOUQUITS aITHamIgul HIGILLD aIDID &e0en60?
AUHHMH DNMHEH BBBISOBTETETEI060 DINSlA DL WIeUTHS,

augliBumeueng SIP¥Iba (WeTBar HTHHH BT SITAML UIAITHSE
abd LIBEG STHAHIHOBTETETCVND 6T6IIMI Hlen6T ILIOITHE

Bened DIMETHSHID

allenL  OFflweaievensv

o an o

No terrifying calamity will happen to whom?

a. For the wise who can know and learn what has come

b. Foresee and guard against coming evils.

c. For those who think they can manage after happening

d. All of these

e. Answer not known

Which of the following is not fundamental right?

a. Right to vote b. Right to freedom
c. Right to constitutional remedies d. Right to education

e. Answer not known

SPHOBTHHSILLLuBmIeT 1% DlglitienL. 2 flen HLHTHI?
a. L BMenLo

b. szpdy o Mewio

C. oIFlwed Mitewiugd FULO LwTer &Te) Oumid o fenw
d. seval Gupid o Memio

e. alewL O flwelsbenso

Match the following with correct options

A. Gram Sabha 1. Municipal Commissioner
B. Panchayat Union 2. Executive officer

C. Town Panchayat 3. Block development officer
D. City Municipal Corporation 4. Permanent body

A B C D

a. 4 2 3 1
b. 4 3 2 1
C. 2 3 4 1
d. 3 2 4 1
e. Answer not known
QUTHSHSHIH:
A. ymo Fenu 1. (pefdlLed &yememTuiT
B. uehsmwisHg uyeiuies 2. QFwed SHsm
C. paJ UEhFTWLSHS 3. Wenmd eueni&dl (eul Lmy o)
D. pay weildusd snmiuGreagest 4. BIhsr Siewoliy
A B C D
a. 4 2 3 1
b. 4 3 2 1
C. 2 3 4 1
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d. 3 2 4 1 e. alewL GaMuwelevemev

83.  Consider statement regarding function of Tamilnadu Governor
I.  acts as the chancellor of universities
II. Promulgate ordinance when both houses are not in session.
III. impose financial emergency under Article 360
IV. appoints advocate general, chairman and members of state public service

commission.
a. L, II, and III only b. L II, IIl and IV only c. I, IV
d. All the above e. Answer not known

SLEpBTer QFweOLTHH6T GHBHSH Llseumd Fuigseien, FiwrareBamBs GnBIULIGS.

M. U6LBHMeVS HLpBMIG6M6T CoubdImes GlguIeoLIBeuTT

WM. O H DIMUBEDHD QFWOULTHBUTSH, Sleuggda L LIpliileaseord

Mo, B  FOUBSILLL Uy  BemeolifaLaidemsd  FLLEmB 360 &S
SIeN&&H60MLD.

M), OUTEHI  aUPSHGHMMET, WHlev  uewilwmenT GCHiTeyd GpdH HMeveUT  LOBMILD
2 milenTaemen HluldldaeoTd

a. L, IT wppnd 11 b. I, IL, OI wBmw IV c. I IV

d. 8men SWRISHHID e. alewL Gafwalsdenso

84.  Qualification of high court Judge can be
1. Must be a citizen of India
2. Must have 10 year experience in head of Judicial office in territory of India.
3. Must has 10 year experience as advocate in one or more High Court.
4. or an eminent Jurist in opinion of President
a.1and 4 only b. 2 and 4 only c.1,2 and 3 only
d. All the above e. Answer not known
2 WITHHIOSB LHUHUNET HSHHUWTSH 6Ten6UBHBLILIHE BT ?
1. @bHws Guwsansd EOmedd Geuem(BLd
2. @hHu / BHHsamn  SesHH0 10 YHIBHET  Hewevenioll  LiGe
PS5 (HHD Couewi(BLD.
3. @aim / @aimieE GoBulL o wipd aBhIseled LShSHalHLBIE6T alpssEh]ITs
ueniyfihs Slepiieud Geuewi(hLd
4. GRWISFSH SHmevaugmed WHF Hmbhs BHHBHIMB BT 616 FTaim QuBNHoHs

Bouemt(BLbd.
a.1&4 w'@Bw b.2&4 c.1,2, &3 w @Bw
d. Boa SIHHID e. alewL Gafuwealsvemnso

85.  Consider following statement and choose correct option
I. Constitution provides only single citizenship and uniform rights to promote
unity and fraternity
II. Overseas citizens of India cardholder is an Indian citizen who is residing
outside India and holds an Indian passport
a. I only b. I only c. Both I'and II
d. None of above e. Answer not known
S1p&HeETHHHILL L eupplledlhbg Fflwmer allewLemuwid GHiTey GFUILIeD
[. spdweveniiyg gL, BB Gufomw Selssips. gOaeisd &Fwe Menb,
FCHTHMTHBHIUD DLBUIT LTHISTDHS (LPIQULD
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II.  OQaefpriG  Geuflown  Ostawi  @bHuralsd  alugBeTer el
mUSH LT BhHU  GHQsEeTr, e, DbHHW SLeFLligematiGuBp  GeuefBTL 1960
audlliueu] Syeli

a.l o’ @ b. II " @ c. I wmmup II

d. gaefievenso e. alowL Gafuwealsdemsv
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86.  Statement 1: Indian council act 1892 introduced the concept of indirect election
for the first time.
Statement 2: Direct elections was held for first time in 1920 under British India as
per Montague Chelmsford Reforms Act.
Correct statement is

a. One only b. two only c. Both one and two

d. None of the above e. Answer not known

&mml 1 D (e (WPpFHedled  mBpSH  CTHev  (pewmpwitegk 1892 @balul
&6 eiTFl60d6l FLULID clpevld DISI(PSLILBSHSLILIL LS.

FBml 2 : Wi gad BhgHwmaied LomenTGL & Q& berd@UTT(H
FTHHmHBHMmIB6T FULLD cpsold 1920-60 (W et (WHeumd GBIy CaHTHe0sH6T HewL GLIBMET.
a.1 w’ @ b.2 wl B c.1 wppn 2

d. gsiabeomen e. alewL GaMuwealsvemev

87.  Consider following statement, choose correct answer from codes given below.
Assertion (A): Leader of opposition plays a significant role to play in Indian
Parliamentary System.

Reasoning (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

e. Answer not known

LeiTeu(BhlD SnBmISmeTd SH(HSHIH:

amul (A) : BbHlui LI T@HLOGIT3 (WemBUTed Q) ¥ SHENEVEUT
USNWLITEIGH (PSS WLILIRIG, eUHHSBSI.

asmyenid (R) @ Geum QuUTgs SWSGHD GHUQaleT HmevaUTTED SHHW el
SLEMEWIWLID  IOBBID  HHU  HBEUD — SLNILSHET  HevevalTaemend  CaiTey
QFUILITTHAD 2 _GIT6ITT.

a. (A) wipw gf, R) seoupl

b. (A) wBpw (R) &f wopd (R) eewg (A) e sflwmer elendaor@td

c. (A) wppd (R) soup)

d. (A) wppw (R) M eemed (R) ereiiugy aflwmen aflendsosden

e. alewL G flwailsenso

88. ammm (A) : QuiiGumflesr @uisdy FABpiesms Sichd @HIBEGLD
smgenid  (R):  fAfGumfler  Quisdy  dBlendemasCu  aBpors  seavienid  SHupeld
Q& TeNTEIpLD.

a. (A) wspd (R) afl Gwed (R) eteiiug (A) &@ gfwnen alenbaLom@Lb.
b. (A) wBpiw (R) &f spemmed (R) eretiug (A) s@ sfwrer afendasiosvsn
c. (A) s spemed (R) seum

d. (A) seup syemmed (R) &

e. alemL g fwealsdensv

Assertion (A): True greatness fears the society of the base

Reason (R): it is only the low - minded who will regard them as friends.
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A and R are true R is the correct explanation of A

A and R are true R is not the correct explanation of A
A true but R false

A false but R true

Answer not known

c a0 o

89.  Consider the following statements.
Statement 1: Meaning of Franchise denotes right to elect.
Statement 2 : Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only c. Both One and Two
d. None of the above e. Answer not known

LNeTeU(BLD FnBBIBM6Td H(HAHIH.

&Bm 1 : autd@flemw areiug Gxitey GauiwLBL o flewwmuid GNSSBSI.
gBol 2 : auwgl aubGaTT auTdsG@Mend FUL FSHHUSHMS 2 (HoUTHGHIHBSHI
SHUBTE SmBpIBmend CoHiTs.

a. 1 LB b. 2 wl @Gw c. 1 BmIb 2 Brewi®
d. easiebeomen e. alewL OaMwaledenso

90.  Match the following and choose correct one

A. Social 1. Rights exercised information and administration of
government.

B. Economic 2. Basic right offered by law to everyone

C. Cultural 3. Rights that assure enjoyment of culture and its

components
D. Political 4. conditions to meet basic need is ensured.
E. Civil 5. guarantees equal treatment and Participation of all
citizens.
F. Human Rights 6. Inalienable and inherent rights to all humans
A B C D E F

a. 1 2 3 4 5 6

b. 5 4 3 1 6 2

C. 5 4 3 1 2 6

d. 5 6 3 2 1 4

e. Answer not known

QUT(HSHHIS:

A. Fps 1. oFmssHHer ST HHaueL (o) HiTeursd o fenosamend
HHSBH!.

B. Qummenmsmy 2. HMDUBHBHGLD FLLSHHT6D GULDRISLILIL (BHETEN SHgLiLlenL
2 MenLoselt

C. seurngany 3.  SGUTHFSFMID  LOBWID  DIHIT GBS  SiaILealSEGLD

o fenLoselt

D. spduwed 4. opliumL. BCHemeusemen HlenpGauBmID ElP60H6N

E. @puiwe 5. HMDHD GQLBBEHEHSGHD FIO DHHENVSEH (D) &FLO

UmIGCamBLImer o migh CFUI%He0
F. vl o Menwser 6. Slenenddl LTS THEhHETRN LIBHESHHT Suleors (1)
o o6lenibhyh o MenLogelt
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a
b.
C.
d.
e. alemL Oz flwailsvenso
91. Consider the following statements regarding Fundamental Duties.

1. They were incorporated under 44t constitutional Amendment Act.

2. They were based on provisions of Verma Committee recommendation.

3. Original constitution had 10 Fundamental Duties.

4. Latest duty to provide opportunity for education to child or ward was added

by 86th constitutional Amendment 2002.

a.1land 2 only b. 1,2 and 3 only c.3 and 4 only

d. 4 only e. Answer not known

SIYLILINL & SHLeWD&H6IT OIGHTL TUTETUBENDBS SH(HBHIS.

1. @meu 4461z SITFWeemoliLis HHHHF FLLID cLpeOlD EenemTdhBLILIL L 6.

2. eaumor @upeler UfbaHDTUILIQUITET FnBISeN6Td OHTEHIL D6

3. oo SFlwevemoliLmeigdl 10 SIQLILIHL & HLENOHM6NS OBTERIY(HHBHSI-

4. 86 eumkl SpFlwevemoliLig HHHHD 2002-651 LY GHLHMBHEDHDHEG Seoalwlerld@Lb
SLMOWTIH UHSHTH BenemiddLILIL L SHTEGLD

a.1 wmmb 2 1w Gib b.1,2 wBmid 3 L G c.3 wBmib 4 WL BHd

d.4 w @ e. alewL Oafweisdensv

92.  Match the following and choose correct one

Article Provisions

A. Article 24 1. Free and compulsory education upto 14 years

B. Article 21 A 2. No child below 14 years can be employed in hazardous
employment

C. Article 45 3. Right to free and compulsory education to all children of 6
to 14 years.

D. Article 39 4. Provision of opportunity for healthy development of
children

A B C D

a 1 2 3 4

b 4 3 2 a

c 2 3 4 1

d 2 3 1 4

e. Answer not known

QUTHSHHIH:

FLL &G BIH6IT FmLiysei

A. grdg 24 1.14 euwgl auedy @evaud LoBEMID SULTW &HeoailulerdgHeo

B. syda 21A 2. QIUTWSTLOTET Lenldemed 14 auHBGSLULL  (&HLDHeDHB6IT
uemiyfl sHemL

C. grHaz 45 3. 6 — 14 auwFHBGLULL SIMaTHSH GLOHMSHBEHLD
®evaug BEID S LTW HevalGupId o feno

D. sysa 39 4. GWHMSHEHESG Hev Gobum igBsTer saurwililener oiefdgHe0
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93.

94.

95.
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a
b.
C.
d
e.

allewL  OFflwaisbensv

Match the following committee and recommendation

A. Balwant Rai Mehta (1957)
B. Ashok Mehta (1977)

C. GVK Rao (1985)

D. LM Singhvi (1986)

A B C D
a 1 2 3 4
b 1 3 2 4
C 1 4 2 3
d 1 4 3 2
e. Answer not known
QUT(HSHHIS:

A. vevaupbsyTwl Cugsm (1957)
B. &6s1s GwsHzt (1977)
C. GVK gmeur (1985)

D. eev.61b. dmal (1986)
&L_Slpa61il 6o

A B C D
a 1 2 3 4
b. 1 3 2 4
C. 1 4 2 3
d. 1 4 3 2
e. alewL Oxflwelsvenso

1. 3 tier panchayat raj

2. concept of ‘grass without roots’

3. 73rd and 74th constitutional Amendment Act.
4. 2 tier Panchayat and involvement of political
parties

l. 3 9IBs&E& LEHIFTWLSHSI TTe

2. "Courdm UBsei” (Lpemp

3.73 wBBID 74euzl SFFweoemoliLdh H(HHHF
FLLBIB6IT

4. 2 SIrFliLied

SNBSS  UGHSTWSHS (D)

UmIGamLy

Only local government that can levy taxer under 3 tier panchayat.

a. village panchayat
d. Anchal samiti
WABEHS
IFHBMHMBL CUBBIGTENSI.
a. #ymo ey &

d. siehger F108)

b. zila parishad
e. Answer not known

UehaTwHEH  (peopuller &L

b. 29eveur uflags
e. alewL Gz flualsdenso

c. panchayat samiti
WG  eufl  alFHeED

C. UehsFTWSHSH FlO)

In how much time will the simple interest on X 3,000 at the rate of 8% per annum
be the same as simple interest on X 4,000 at 12% per annum for 4 years?

a.4 b. 8

c.12

d.6 e. Answer not known
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96.

97.

98.

99.

100.

.3000 SIFVIHG UTHHGH 8% et euPHRIBILGILD SHeleul uimendl h.4,000 HIFVIHE
opeiheb@ 12% eer 4 eihEHEHEHEG MUPBRIBLILGID HNaIl 196G BEITGD STV
61607601 ?

a. 4 b. 8 c. 12 d.6 e. alewL  Ogfwalsbensv

spsamiLabplel Fflwrarms CHiTboHBHoHIALD.

1. Gspsy MevddHer Guieoumed BT Coupul (B SIHHEVSHHE HETELOWEDL LISHTGLD.

2. oMb Babs gl L HHer Buisollanmed oHHel HD Spfley Hensoulsd LOTHIEUT

3. WEFHEHHG 2 _WITFS aTHHMB60 2 6w MG

a.1 w @Bw b.1,2¢c2,3d.1,2,3 e. alenL Gz flwalsdensv

Choose the correct statements

1. As water changes (its nature), from the nature of the soil in which it flows

2. Will the character of men resemble that of their associates.

3. The power of knowing is from the mind

a. 1 only b.1,2 c.2,3 d.1,2,3 e. Answer not

known

At what rate percent compound interest does a sum of money become nine fold
in 2 years?

a. 100% b. 200% c. 300% d. 150% e. Answer not known
&LB eully wpedpuled, @m OCETemswmargk @Fenih Leu(BH6He0 e6TLISH DL MG
BB 6TeNleL, DISHST ULl QB WTGH?

a. 100% b. 200% c. 300% d. 150% e. alewL Oz fwalsbensv

A fruit seller bought 10 boxes of grapes at X.210 each. One box was damaged.
He sold the remaining boxes at X.250 each. Find the profit/loss percentage
a.7.14% loss b. 10.14% loss c. 7.14% profit

d. 10.14% profit e. Answer not known

@@ up eolwrufl 10 OQully SHmlevgsmer @@ Oully p.210 i  eurmiglerTi.
SIFHO @@ ULy FHITiewsF e alGSBH.  WBhHpsTen GULIHmeT @ GUL g
5.250 oIdIp alemevds@ alIBdmTT. St / Badl FHTHID HTew.

a. 7.14% majLLb b. 10.14% pajLib C. 7.14% eomuid

d. 10.14% evmub e. alenL  Gafweaisvenso

If an investor wants to receive Rs.10,000 as simple interest every month and rate
of interest is 8% per annum then the amount he should invest is

a. Rs. 25 lakhs b. Rs. 20 lakhs c. Rs. 15 lakhs

d. Rs.8 lakhs e. Answer not known

Qh (WPpHeSLLTenT Lyg wrpd Hell eullpuins 510,000 Qup eldHLUSBTT. Uiy
afald emihdE 8% ealled SeuT (PHesh QFuIw Gsuemigul GsTend eTete?

a. ap. 25 6 &b b. 5.20 evL &b C. . 15 el &b

d. 5.8 6ol &b e. alenL  GaMuwailsvemev

Find the compound interest on * 1000 at the rate of 10% per annum for 18 months
when interest is compounded half-yearly.

a. 157.625 b. 162.571 c. 152.654

d. 126.571 e. Answer not known
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o] YUMIBHG @ (WPoB ey FL el GCHFTHSIULLT h.10005E SL6m1H
aly eisd 10% aislig, 18 WTHHIBEHSGHD Gl (B U lg HTEIGLD.

a. 157.625 b. 162.571 c. 152.654

d. 126.571 e. aleowL  Oafwalsbensv

101.  Which of the following is not federal feature of Indian constitution?
a. Supremacy of Constitution b. Independent Judiciary
c. Written Constitution d. Integrated Judiciary
e. Answer not known
Letau(mheussteuBmien b&Huwl SIFFuIeoenoli e gnl LT Fufet SIDFLoeLOTHSHI 61517
a. odweenoriienr o wyHsryd b, SHbATOTN BHHHEmN
C. aiRaUULL  SIFFlIeuenLoLiL d. epBHombs BHHoHDMDB
e. alenL Oz flwalsvenso

102. Match the following with correct options.
1. Citizenship a. Article 5 to 13
2. Fundamental rights b. Article 12 to 35
3. Directive principles of
state policy

I. Partl
II. Part II

c. Article5to 11 III. Part II1

4. Fundamental duties d. Article 14 to 35 IV. Part IV
e. Article 36 to 51 V. PartV
f. Article 51A VI. PartIV A

a.1-cll 2-b-1II 3-e-1V 4-f-v

b.1-c-1I 2-b-1II 3-e-1V 4-f-VI

cl-a-II 2-d-1II 3-e-1V 4-f-VI

d.l-a-1I 2-d-1III 3e-1V 4-f-V

e. Answer not known

QUTHSHSHIH:

1. @ufleno a. glLamm 5-13 I uga 1

2. ougliLienL_ujflenio b. slLgmm 12-35 II. usg 11

3. MHlev, QFWeEOLTH FUBHSUILIL L

ol HHOBTeTEND c. slLamm 5-11 II. ugs Il

4. oL o _feno d. siLamm 14-35 IV. ugg 1V
e. FlLdmm 36-51 V. ugs V
f. sl Lamm 51A VL. ugg IVA

a.1-cll 2-b-1II 3-e-1V 4-f-v

b.1-c-II 2-b-1III 3-e-1V 4-f-VI

cl-a-1I 2-d-1III 3-e-1V 4-f-VI

dl1-a-1I 2-d-1III 3e-1V 4-f-V

e. alenL Oz flwalsvenso
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103.  Match following with correct options.

Provision Source
A. Liberty equality 1. USSR
B. Fundamental rights 2. France
C. Directive principles 3. USA
D. Fundamental duties 4. Canada
5. Ireland
A B C D
a 1 3 5 4
b 2 3 5 1
C 2 3 5 4
d 2 3 4 1
e. Answer not known
QUT(HSHIS:
SH(HSHS SIBBHTL QeI (HHSHI COETeTend SLSHTILD
(B SHHIHOBT6TEMLILIL L S
A. swiHzian aHHIHTD 1. USSR
B. owgtiuenL 2 _fleninseit 2. Lgmeiterd
C. auflam G / eums
Gouemngul &L L 6N6ITEH6IT 3. (USA) s@uwflds gsdw Brd
D. spliuemL & sL_enloaeit 4. eI
5. SWTeOTHSI
A B C D
a. 1 3 5 4
b. 2 3 5 1
C. 2 3 5 4
d. i 3 4 1
e. alewL Oxflwelsvenso

104. DebHMTUWITTSG 6IFFBHGAT BNGLD EEIHEHITUITTEG
BLENEVHEIMI LT
a. 2 oG b. alener C. MMV
d. G&meved e. alew OHfwaledenew
manandhooyaark kechchamnhan Raagum inandhooyaarkku
illainhan Raagaa
a. ulagu b. vinai c. marai
d. solal e. Answer not known

105.  Match following with correct options

Schedule Subject Matter
A. Seventh 1. Division of powers between union & states
B. eighth 2. Disqualification due to defection
C. Ninth 3. Protecting laws violating fundamental rights
from Judicial scrutiny
D. Tenth 4. 22 official languages

A B C D
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an o
(S QY
NGRS

WN W W

N WINDN

Qum(menL&aLd
1. welwer & LoTH6VRIBEHHHTET DIFHHTTID
2. &8 TBeuHTed gBUBLD HGHEH HHDBLD
3. pHWIB CarmHemen LOBBID SigliLienL. 2 _feniol
UIMTSHISTLIL
4. ops Gomp
D

N W INDN

provision
1. Grant pardon, reprive, respite
2. Privilages of president
3. All executive action of union taken in name of
president
4. Supreme command of defence force of union

B~ W NP g

QuIT(mHerTLdasLd
1. Qurgl weaelil, HBIL_MBIHGMDBIL] / B
2. WrgHd Hemeveufer FBLIL FevIenHH6IT

4, GlQWITFSH HEM6VGUT Quuwifed B HBLILBID
5. WluedL S HemeveuT

D

1

2

3

4

4 1
e. Answer not known
OUIT(hSSI%H:
O&pL U }60 6TewT
A. gpmeugl
B. el (s
C. gaug
D. ugagl

A B C
a. 1 4 3
b. 4 1 3
C. 1 4 2
d. 4 1 3
e. alewL O flwealsvenso

106.  Match following with correct options.

Article
A.77
B. 53(2)
C.72
D. 361(1)

A B C
a v 3 4
b 3 4 1
C 4 1 2
d 1 2 3
e. Answer not known
CUITHSHSI:
FL L Gnl
A.77
B. 53(2)
C.72
QFwedLIT(B 6T
D. 361(1)

A B C
a 2 3 4
b. 3 4 1
C. 4 1 2
d. 1 2 3
e. alenL Oz flwalsvemnso
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107.  The vice president can act as president for maximum period of

a. 6 months

d. No time Frame provided
GQUITS BHI6DE0T HSHEMEVGUT,
UenoflwmBmeomLd?

a. 6 LIS

d. s1evs0s0H Bevemev

b. 1 years c. 5 years
e. Answer not known
GQUITE HBHMELGUT TS SIFHBUL_FLD
b. 1 eu@LID C. 5 QU(BLLD

e. alewL Gaflualsdenso

108.  Match following with correct options.

Position
A. President
B. Vice president

C. Lok Sabha
D. Rajya sabha

A B C D
a. 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1
e. Answer not known
QUT(HSHHIB:

ugel

A. BQWISHSH HM6VaUT
B. @uwrss sienenissHemeveuT
C. Georss &um

D. grgwigum

A B C D
a. 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1

Minimum age
1. 30 Years
2. 25 years
3. 35 years
4. 35 years

GMBHS LLF UG
1. 30 auwigl
2. 25 auwgl
3. 35 awgl
4. 35 euwlgl

e. alomL Ggflwalsvenso

109.  Which of following is not discretionary power of Governor?
a. Article 201 - Reserve Bill for consideration of president
b. Article 356 - Recommend imposition of president's rule in state
c. Article 167 - seeks information from chief minister relating to administrative

and legislative matters of state.

d. Article 213 - power of Governor to promulgate ordinance

e. Answer not known

SLDaU(HeUGTOUBBIGT 61H DLEBHHIT HIHBTT UIDLSSH6T euITEHI?

a. glLgm 201 — fgmeu WCFTHT — GQUIGHHMELAUT QLILITHIEVISHHTISHI

b. siLgmm 356 — WIHHHN GugasHmevauT o Hevw Hurfa CFuwieugi

c. gFlLamm 167 — &LLID BBYID BTeuTsd CHTLIUTRT  HBH6UELSHMEN
SlwFFALD Gl HLGUMISH6L

d. #lLam 213 — FLLHMS SIOOLBSSHID SHIHSMID

e. alemL G fluwailsvenso
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110.

111.

112.

113.

Chairman and members of state public service commission is appointed and
removed by

a. Governor in both cases

b. President in both case

c. Governor and president respectively

d. Chief Minister and prime minister respectively

e. Answer not known

OTHe0  UenlwmenT  QUTEkI  Spememiuld  HeevalT  Blulerd /  [Sééld  wmymed
CeuiwiuGaBg!?

D@D

GQWTEH HM6LGUT

SHEBBT LOBHID  GIQUITHS SV

. (PBHO SewwdaT [/ FsLoT

alemL  OFfuialeoemsv

o a0 o

LGV & 60T [HEBTEmLD &5 DHHITGLD.

a. 2_ulitse b. BmsnE C. WenianiBE;
d. o edBE e. alewL OgMuwalsdensv

Goodness of mind is wealth of

a. life b. society c. earth

d. world e. Answer not known

Choose correct statements.

Assertion (A): There are limitations on legislative authority of state legislature.
Reason (R) : Certain bills on state list can be introduced in state legislature only
with president's approval

a. A is false but R is true

b. A is true but R is false

c. both A and R are true and R is correct reason for a

d. Both A and R are true and R is not correct reason for A

e. Answer not known

gilwmer $H&HeUe0HM6NH GHMILILIL 6D

ampm (A) ;Mo FULFmUUIET SIFSBTID euFIDLSEL UL L G|

smyenid  (R): @il oo wBsngrdser, Guuwrss smeveufler @UiLeCordHe,
OMHlev FLLFmUUNed HenBCaumBmBLILIBLD

a. (A) seoup semmed (R) &

b. (A) sfl semmed (R) seum

c. (A) wpmpw (R) &fl Guweud (R), (A) &@ gfwrer alendsid

d. (A) oppib (R) il semed (R), (A)de sflwmer alenssd Sieve0

e. alenL Oz flwalsvemnso

Who is first political thinker in Indian context?
a. Ved vyas b. Kautilya c. Tholkappiyar
d. Thiruvalluvar e. Answer not known
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114.

115.

116.

117.

118.

AhHW leTaled, (PHeL HTHAUIED FHHEMETUWTENT 6160 WTDTSH FnMB60TLD?
a. Goump elwmaf b. Qeemgeouii C. Q@ meosmiuiiT
d. #meueitempeui e. alowL GaMuwealsvemev

Which are moral obligation of citizen to uphold unity and integrity of country?
a. Fundamental rights b. Preamble

c. Fundamental duties d. Directive principles of state policy

e. Answer not known

GdHeMer 6heH bHOBY SUGUUTEH  HTLIQET @BBIGHID WOBBID  @HEDLOLILITL 6L
UTSHIBTHS 2 HaHma!?

a. 9l 2 _fenloadeit b. wpsliyeny
C. SIQLILML. HL DLDSH6IT d. opfar eaunfsn G Onp(wenseasei
e. alewL Oz flwelsvenso

Who said 'social democracy as a way of life that recognise liberty, equality and
fraternity as principles of life.
a. Jawaharlal Nehru b. Dr. B.R. Ambedkar c. Robert Dahl

d. M.N. Roy e. Answer not known

"Fpd WEHBTLS iU, SFHHIHIWD, FSHHOID WBBID FCHTHISHHMSHMS DiGLILIENL
alFHsenmas OBTEwIL @(h 6UTLDEY (LPEIBUWITEGLID” 61601  Fnp3luleui?

a. meauamteured G b. Dr. B.R. 91b@ugsir C. @ymuml Lmed

d. M.N. gmui e. alewL OxfNueaisvensv

State funding of elections was backed by

a. Indrajith Gupta committee b. Tarkunde committee
c. Vohra committee d. Tanka committee

e. Answer not known

Sdler pFugelujemmer Corsesmer usl5s S

a. @pFIdd GlsT GW b. si@etL &w c. Gaumm G
d. Lmsr G e. alewL Gafueaisvemnso

Which was the first Indian state to go for internet voting?

a. Punjab b. Karnataka c. Andhra Pradesh

d. Gujarat e. Answer not known

@D (PeUD AUTHGLILGHR| B LML (PHeOL @HFHW THevD 6157

a. LEhaml b. &ipILsT c. oIl LpGshaid
d.eors e. alewL GaMuwealsdemso

Backward class commission constituted by Tamil Nadu Government is under
chairmanship of
a. Santhanam b. Kaka Kalekar c. Mandal

d. Sattanathan e. Answer not known

s  oPFTed pwdssiulL  UIBUGSHSUIULCLIT  SLEILSHET  HEN6VHLD
QuTmILIeNLI  GBBeUTT

a. FHBHTeD b. star &8svs0HT C. LDGUITL_ 60

d. sLprsHe e. alewL GaMuielsdemev
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119.

120.

121.

122.

LDGTHEVH ST SLGSLD LOBIMOBH SI.".HILD

BebevH 6t 2_ML 53

a. LensaT b. eomiy C. BaeniD

d. e gmest e. alenL Gz flwalsdensv

mananhalam nankutaiya raayinum saandroarkku

inanhalam pudaiththu

a. pagaivar b. Emaap c. inmai

d. Oorndhan e. Answer not known

Match the following

A. Kaka kalelkar commission 1. 1951

B. First amendment 2.1979

C. Second backward class commission 3.1953

D. Indra sawhney vs Union of India case 4.1992
A B C D

a. 3 2 1 4

b. 3 2 4 1

C. 1 3 2 4

d. 3 1 2 4

e. Answer not known

QUT(HSHIS:

A. a1am HB6060HT DLENEMITLID 1.1951

B. pae0 FLLSHIHHSHBHD 2.1979

C. gyewiLmougl LIBUGSSUILILCLIT SLeneruDd 3.1953

D. @pgin sasrel aHi @bH Weiuier eupsHE 4.1992

A B C D

a. 3 2 1 4
b. 3 2 4 1
C. 1 3 2 4
d. 3 1 2 4
e. alewL G flwailsenso

The cost price of 25 wrist watches is equal to the selling price of 20 wrist watches.
Find the loss or gain percent.
a. Loss 20% b. Gain 20% c. Loss 25%

d. Gain 25% e. Answer not known

25 mBHIYSTMTHHE ILHH alemev 20 EHHITIHIS6TET alBs alemeudbGHF FLob
aTelled B6UTLl HILVEH BL L FHATHHMNHS HT6wIH.

a. prL 20% b. &eomud 20% c. pUrLb 25%

d. &eomub 25% e. allenL  Gafweaisvenso

The difference between compound interest and simple interest on an amount of
Rs.15,000 for 2 years is Rs.96, then the rate of interest per annum is

a. 12 b.8 c.6 d. 10 e. Answer not known
5.15,0